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https://drive.google.com/open?id=0B-ob6L_QjGLpSmxxS0lrQnpBVEk NEW QUESTION 296Which cisco technology can

connect more than two switches so that they behave as one switch? A.    EtherchannelB.    TrunkingC.    VSSD.    Stackwise  

Answer: D NEW QUESTION 297Which two processes are included in the Build phase of the Cisco Design Life Cycle? (Choose

two.) A.    DesignB.    ValidationC.    AnalysisD.    DeploymentE.    Assessment Answer: BD NEW QUESTION 298Which

statement about modular network design is true? A.    It is complex and should be used only in specialized situationsB.    Each

deployed module is identical to the others,simplifiying configurationC.    It is flexible architecture that simplify design,management

and troubleshootingD.    Each module include access,distribution and core layers Answer: C NEW QUESTION 299When

designing changes to an existing network, which two options are documented to understand environmental constraint? (Choose two.)

A.    Utilization of network resourcesB.    Floor and rack space availabilityC.    Host naming conventionsD.    Heating and Air

conditioningE.    Location of existing documentation Answer: BD NEW QUESTION 300In the traditional hierarchical LAN

design,Which two statement about the distribution layer are true? (Choose two.) A.    It typically is connected directly to the internet

It provides users direct access to the networkB.    It uses Layer 2 switching onlyC.    It aggregates data from the access layerD.   

Policy is implemented at this layer Answer: D NEW QUESTION 301Which level needed to be set on Cisco WLC for VolP traffic?

A.    PLATINUMB.    GOLDC.    SILVERD.    BRONZE Answer: A NEW QUESTION 302Choose considerations for access

layer design? (Choose two.) A.    QOSB.    RoutingC.    Port securityD.    Load balanceE.    HSRP Answer: AC NEW QUESTION
303For a VLAN that requires 60 hosts, which subnet is the most efficient? A.    10.0.0.1/20B.    172.31.17.0/27C.    10.10.10.0/26D. 

  192.168.15.0/24 Answer: C NEW QUESTION 304Which option is an advantage of a Layer 3 access model over the traditional

Layer 2 access model? A.    Increased neighbor adjacenciesB.    Faster convergenceC.    Reduced resources on the routerD.   

Reduced size of routing table Answer: B NEW QUESTION 305??    Download the newest PassLeader 200-310 dumps from
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